Q1:(5 pts) The base of a solid is the region bounded by y=2’, y=2+2 Findthe
volume of the solid il each cross section perpendicular to the y-axis is an equilatcral
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Q2: (5 pts) Find the volume of the solid obtained by rotating the circle

I'rl-.zj;*_'p-,'f aboutthe line x = -} | s
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0Q3: (5 pts) Find the area of the surface generaied by rotaling the curve y =e**
O=xs ! oboul the x-axis.
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[1] (4 marks) Find the arc length of the curve 24xy = y* + 48 fromy = 2 toy = 4.

[2] (2 marks) Set up the mtegral (Do not Evaluate) that glves the surface Surface area of the
solid that results when the region bounded by x'= cosh

about x — axis.
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[5] (6 marks) Find the sum:
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Mathematics Department
Calculus II, Second Exam, 22/8/2017
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Jordan University
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1) (4 points). Find the area of the surface obtained by rotating the curve

- V-3,

1 < r <2 about the z-axis.
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The university of Jordan  Caleulus 1l Second exam 10 April 2016

sl Bl ol o
Bkl e b pedalaaJl Sy

Q1: Find the area of the surface obtained by rotating the curve

g R Aol ¢
}'-—EI +}-:r: L 12x<42 about x-axis

(2: The base of the solid § is the region bounded by ¥ = x* — 1 and

¥ = 1 — x*, Find the volume of 5 if every cross section perpendicular to
the x-axis is a right triangle{4yl il &4 Slia) with its hvootenuse{ 34 ) on
the base and ane angle equal to 30°.
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Q3: Find the sum

"o0 (‘__ 1 PP )
n=ll(netdined)  7N°3

14 Set up the integral that gives the volume of the salid generated by
revolving the region bounded by y = x* , y = 27,x = (0 about the line

xr=-3

la) Using washer method, (Do not evaluate the integral).

(b} Using cylindrical shell method, {Do not evaluate the integral),
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The University of Jordan Department of Mathematics
Student'sName:.................. Instructor’s NUmIes. . ... .ooveivnninns
Student's Number:t. ... ....o0v e Class Time: ............c.cvvumnnnnnnn

Second Exam ¢ Calculus IT (0301102) ¢ Summer 2016
Note: This exam is composed of 8 questions. You have 60 minutes to finish

Question 1 [5 points]: Use the Washer method to find the volume of the
solid generated when the region bounded by y =2Vx-land y=x~1is
revolved about the line x = ~1.

Question 2 [3 points]: Test the following sequence for convergence.

9*&'1}
la,.}—{l—”—z)} |

h=

Question 4 [4 points]: Determine if the series is absolutely convergent,
conditionally convergent or divergent.

oo

Z sin i
nd

Question 5 [3 points]: Determine if the series converges or diverges. If the
series converges find its value.

oo
E 32+rr21-3n

n={)
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Question 6 [4 points]: Determine if the series converges or diverges.

i V2n?2 +4n + 1

3
— n+9

Question 7 [4 points]: Determine the radius of convergence and interval
of convergence for the following power series.

):n! 2x +1)".

n=0

Question 8 [4 points]: Give a power series representation for the integral

of the following function.
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{&ﬁfmﬁ Use series to write the repeited decimal 0.4 unqmmofim
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